
ESTRUCTURA : GRUPO VELOCIMETRO		
 

GRUPO VELOCIMETRO  

  

 

Rating: Not Rated Yet 
Price: 
Variant price modifier: 

Base price with tax: 

Price with discount: 

Salesprice with discount: 

Sales price: 

Sales price without tax: 

Discount: 

Tax amount: 

Ask a question about this product  

 

Description 

Ref. Título Código

1 CONJUNTO VELOCIMETRO 69-28139

2 TAPA DEL VELOCIMETRO 69-34166

3 VELOCIMETRO 69-28165

4 TAPA INFERIOR DEL VELOCIMETRO 69-28141

5 SOPORTE PULSADOR DE REINICIO CUENTA KM 69-28167

6 PULSADOR DE REINICIO CUENTA KM 69-28168

                        1 / 3

https://cprrepuestos.com.ar/images/stories/virtuemart/product/grupo velocimetro868.png


ESTRUCTURA : GRUPO VELOCIMETRO		
 

Ref. Título Código

7 SOPORTE VELOCIMETRO 69-28169

8 TORNILLO ST2.9X12 69-38031-2

9 TORNILLO M4X10 69-38023

10 TRANSMISION VELOCIMETRO 69-28161

11 ENCABLADO VELOCIMETRO 69-28143

12 LAMPARA 12V 1.7W 69-38102-3

13 SOPORTE TABLERO 69-28157

14 ANILLO PROTECTOR 69-38089

15 TORNILLO M6X16 69-38014-2

16 TORNILLO M6X16 69-38014-3

17 ARANDELA PLANA 6 69-38045-2

18 ARANDELA DE GOMA 6 69-38092

19 ARANDELA 69-38047

20 ANILLO PROTECTOR 69-38089-1

21 TOPE DE GOMA SOPORTE TABLERO 69-28159

22 ARANDELA 69-38047-1

23 TUERCA M6 69-38037-1

 

 

 

 

 

 

 

 

 

 

 

 

                        2 / 3



ESTRUCTURA : GRUPO VELOCIMETRO		
 

 

 

 

 

 

 

 

 

 

Powered by TCPDF (www.tcpdf.org)

                        3 / 3

http://www.tcpdf.org

